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base = float(input("length of base: "))

height = float(input('measurement of height: "))
area = base * height

print("Area is:", area)

Tl 2 sF
length of base: 14
measurement of height: 15.5
Areais: 217.0

pi =22/ 7
height = float(input('Height of cylinder:
radian = float(input('radius of cylinder:
volume = pi * radian * radian * height
sur_area =((2* pi* radian)* height ) +(( pi * radian ** 2 ) * 2)
print("Volume is: ", volume)

print("surface Area is: ", sur_area)

))
)

R I B
Height of cylinder: 20
radius of cylinder: 2
Volum is: 251.42857142857142
surface Area is: 276.57142857142856

pi=22/7

radian = float(input('Radius of sphere: "))
sur_area = 4 * pi * padian **2

volume = (4/3) * (pi * radian ** 3)
print("Surface Area is: ", sur_area)
print("Volume is: ", volume)

Tl 2
Radius of sphere: 10
Surface Area is: 1257.142857142857
Volume is: 4190.47619047619
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from math import tan, pi

n_sides = int(input("Input number of sides: "))

s_length = float(input("Input the length of a side: "))
p_area = n_sides * (s_length ** 2) / (4 * tan(pi / n_sides))
print("The area of the polygon is: ",p_area)

Tl 2 sF

Input number of sides: 12
Input the length of a side: 8
The area of the polygon is: 716.5537550532244

import math

= float(input("Input wind speed in kilometers/hour: "))

= float(input("Input air temperature in degrees Celsius: "))
wci = 13.12 + 0.6215%t - 11.37*math.pow(v, 0.16) +
0.3965*t*math.pow(v, 0.16)
print("The wind chill index is", int(round(wci, 0)))

Tl 2 sF
Input wind speed in kilometers/hour: 48
Input air temperature in degrees Celsius: 14
The wind chill index is 11

rep 1nt(1nput( Enter repeat
(S33,9 )y S

print (s * rep)
4y )\,(7 Sl rep

R T B

Enter a string: Python
Enter repeat: 5
PythonPythonPythonPythonPython

a = int(input("Enter real part: ") _

b = int(input("Enter image part: ")) real _z:s a
complexl =complex(a, b) -
imag s b

print (complex1l)
el g e ste | complexl

talogm 2o sS

Enter real part: 12
Enter image part: -4
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w = input("Enter w: ") Son B )
n - 30823 INmesi 05| M
ie:azsg (w*1) / m; bﬂﬁji{io)} -
print("Tedad = ", tedad); ©39) j\);:j‘\,.&j O35 W
255 ot ol B
o slad S 4o sl tedad
Tl 2e

Enter w: 134

Tedad = 4.2433333333333333e+27

ss = 3.156e7 ) a4
VY Jee sy

age = int(input("Enter age:")) -

second = age * ss; Wb ey Jloa Ss

rint("Second = ", second

print( > ) v | Age

b e o | Second

R I B
Enter age:48
Second = 1514880000.0

O )“a.i:&
a = float(input( "Enter salary:")) .. S
b=a*0.07 as
m=a* 0.1 — B
p=a-b-m -
pr‘int("s = u, a, " b = n, b," m = ",m,“ p = “)p) QLJL‘ M
2los P
Tl 2
Enter salary:10000000

s = 10000000.0 b = 700000.0000000001 m = 1000000.0 p = 8300000.0
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San g
yl = int(input("Enter price for first year:"))
y2 = int(input("Enter price for second year:")) 05 5 T
t = (float)(y2-yl) / yl * 100;
y3 =y2 + y2 * t;

JE 0l Y5 s yl

print("Extera=%", t, "\t\tPrice next year = " , | wkden¥sc.s| y2
y3) SWS sses | y3
aos e

Tl 2

Enter price for first year:10000000

Enter price for second year:12000000
Extera=% 20.0 Price next year = 252000000.0
63939 31 1y s isla N olu25 Ji=o 5 g ddld oyl o LS @l dalldyy .
4y g LS Taao o)l (S pbIYl Ty Jume a0 4SS exily codd| g5
Mo HI ) S5824S glbdase gLogxisl 1 Qpad 042 1pkosS) L ds0 295
A 10 Iy Jdroe oYLy A4S gxdle 90 Jure yly Gt gl 1A o uh Ly 6

(paibys shad yo i

RV gy Ty

Qli}»:g‘: 3ldas n

Jume s | Maxl

Jdne es | Max2

TR

idl = -1 315 1y Jdme gl &8 o gmetils oyl | 1A
mzz; - i ly Jdme cmess oS ogmiils opled | 102
id2 = -1 yls
2f=n1:t§%nput( Enter n:")) 55 Juwe | aver

print("Please enter a number iy oyles | 1d
greater then 1")
else:

for i in range(1, n+l):
id = int(input("Enter id:"))
aver = float(input("Enter average:"))
if aver > maxil:
id2=id1
max2 = maxl
maxl = aver

idl = id
else:
if aver>max2:
max2=aver

id2=id

£

e Jl ¢
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print ("Max2 = ", max2, '\t', "Id2 =", id2)

:4_a|_3)_? “_?‘gp
Enter n:3
Enter id:1
Enter average:17.5
Enter id:2
Enter average:12
Enter id:3
Enter average:15
Max2 = 15.0 Id2 = 3
Sldel Lol 45 wado ki oSl g5 3939 3 |y soldel 45 slaalisy .Y
O sLadidepouio gons 45 Cwl JolS sode .yus Ly didus JolS lais) s
Il LS 31 dde a wysm J) e kbl due 0T L 1l o (@585 Jodn)
s L Wy dalal @Hls 4o dal g B0 4S LS

while Trug: . . e e
num = int(input("Enter a number:"))
sum = © Jis g slael | NUM
for i in range(1, num):
if (num % i == 0): nuUM G les,les | 1
sum += i - Sum
if (sum == num): it tanel Sone
print('\t', "Perfected") S walst s | YES
else:

print('\t'," Not perfect")
yes=input( "Continue ?")



13 oPl-$5FcolPE—§55F0oPPo Jitky jSi0 ol 1-FPPOFFAV gy 9l il jliscul

. if (yes[@] == 'N' or yes[@] ==

break

Enter a number:6
Perfected

Continue ?y

Enter a number:12

Not perfect

Continue ?n

SS 0 e )y (2 Uisd saw )
A

Y Y

fl=1
f2 =1

[

b syw =)

n = int(input("Enter a number:"))

if n == 1:
print(f1)
exit(0)

elif n ==
print(f1)
print(f2)

else:
print(f1)
print(f2)
i=3
while i <= n:

f3 = f1 +
print(f3,
fl = f2
f2 = f3
i=1i+1

Enter a number:6

C.oUWwWMNhRPRE

f2
)

'n'):

\

R TP

42 N olurd 45 sl 4w

VY

Ly Y

grT)

OM\SJLM:‘

S o e

fl

G ez

f2

S o e

3

Iy PESN TS

N

S TR

| o ld o Ly Iy 4db)y sla JSIHLS codd | g3 |y ol dddy 45 sl 40 L

017

(bl for Ly 4ld)y guolaiy 4ol dun) dado gl 38080

s = input("Enter a string:")

for i in s:
print(i, end =

)

Enter a string:Fanavarienovin
Fanavarienovin

S Lo %Yo o e Lo

pls Jb
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slbod] g 4zl

S

iy SO

T lism 298

Lials® S b

Pogi s duwle j0) Oygwdy plg 0@ S Gl dalo VA a0l

.0



(ol @z yo— 4ol g0+ o gl flwo J>  1F

_ el S
P‘_Q o)y = -
= 225000(
il Jb L0080 S lo elaie 49 JLoy(YYYAr ) oy
Sl gl 4 Wby ply Hdd> cdbly 43Dl HLa JLopYererenes alii
Iy oy &uw o bludl dluxd olile jJLiddygo o 45 gldaolipy .ogd
Iy olo ya lud g dgi G5l oliio 49 ol 45 ol g gugw LIS 0 adloyd
(3350 dwls ) Oygedn SIS0 ply Gl izabsd) LS olp
. \ =U_,a o . o= “'|.)‘)_V:P|}' ‘ _‘:_,\_>|3H‘n|‘5(}]_§_ﬁx.bhg‘Q‘JJ_)XM)JC)_}DM=
S oyl s gl — pl g Lbliie il
12 X al g gdoo— al g &
=els

Lo 4l Sl dal g® 3 ylS 4S8 Gla) s LS 4l 1 ySAS

while True : o i
m = int(input("Enter m:")) ol 3lisy g0 fhs m
tedad = int(input("Enter tedad:")) s S
s = int (input("Enter s:")) e
k= (12 *m) / (12 - tedad * s / 100) el JS k
p = k / tedad LUl slaw tedad
print("k = ", k, "\t', p)
ansi=input("Do you want to continue(y/n):") Lud o 2l P
1fbi2§i[e] = alsl b s ansi

ol 25

Enter m:8

Enter tedad:7

Enter s:12

k = 8.602150537634408 1.2288786482334868

Do you want to continue(y/n):y

Enter m:5

Enter tedad:9

Enter s:6

k = 5.2356020942408374 0.5817335660267597

Do you want to continue(y/n):n

pariin 0dl o 63939 HI 1y Hdrd Jlw o yoylS WIS Jlw 4S slaoliyy T

wip s A4Sy air ele dir (Jay Lhr cole dir Jle dip LiSeo

Lowl 0338 yae 4a5LS

[W-EVY Py

Js5Ju | byy
J o | bmm

As 55, | bad
s du | CYY

sl | CMM

&35, | cdd
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035 La;6 Ldu | year

055 ;4 Lele | MoONth

o5 S5 s, | day
035 Sx;6 el slas | DD

B);;u\;}ﬂ{&@))‘u\&‘; mm

035 S%; & glaash sl | S
03,5 S5 Llass, JS sk | days

byy =int(input("Enter birth date(year):"))
bmm =int(input("Enter birth date(month):"))
bdd =int(input("Enter birth date(day):"))
cyy =int(input("Enter current date(year):"))
cmm =int(input("Enter current date(month):"))
cdd =int(input("Enter current date(day):"))

if cdd < bdd:
cmm -=
cdd += 30

day = cdd - bdd
if cmm < bmm:
cyy -= 1
cmm += 12
month = cmm - bmm
year = cyy - byy
days = day + month * 30 + year * 36
hh = days * 24
mm = hh * 60
Ss = mm * 60
print("0ld is: {@}/{1}/{2}", year, month, day)
print("Hour is(hh:mm:ss): {@}:{1}:{2}", hh, mm, ss)
ol 2
Enter birth date(year) :1348
Enter birth date(month):10
Enter birth date(day) :04
Enter current date(year) :1396
Enter current date (month) : 09
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Enter current date(day) :30
0ld is: {0}/{1}/{2} 47 11 26

Hour is(hh:mm:ss): {0}:{1}:{2} 49152 2949120 176947200:
Gogro oSy 4y |y Lagl coddl g wogyg 31 Iy slddoe dw 45 slaabliyy .V
SIS0 olr oS 90

a = int(input("Enter a:")) i o
b = int(input("Enter b:")) -
c = int(input("Enter c:")) odiokl = slael | @, 0, C
if a > b:
temp = a S8 e | Temp
a=>b
b = temp
if a > c:
temp = a
a=c
c = temp
if a > c:
temp = a
a=c
c = temp
if b > c:
temp = b
b=c
c = temp

print("Sorted is ", a, b, c)
Mol 25

Enter a:12
Enter b:8
Enter c:9
Sorted is 8 9 12
OQUSHLS Selw d)aiwd g 54SyLS delw cslboyls oyled 4S sldaliyy .A
3 giu saylS 381 WSS 0 duwls |y Lagl Gedi> ol g5 |y o) duwgos
22 syl 4 LS =S gl 4 HlLSaslal cwbly 03ySHLS aclw ¥

Logdign G510y syLSLilal ol phedny Selw okaiwd 3 (sylS e lw

2

n = int(input("Enter n:")) o S

i=1 OLS LS sluws n

while i <= n: - id
id = int(input("Enter id:")) Sl o)led :
h = int(input("Enter h:")) 55,5 csla h
hp = int(input("Enter hp:"))
ov =20 el sz [ PP
if h > 40: L

ov=(3/2.0-1) *(h - 40) * hp il

p=ov+hp*h oyl i
print("id = ",id," ov = ",ov, " p =", p) .
i=1i+1 o~ P

Enter n:2
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Enter id:1

Enter h:100

Enter hp:9000

id= 1 ov = 270000.0 p = 1170000.0

Enter id:2

Enter h:50

Enter hp:14000

id = 2 ov = 70000.0 p = 770000.0

L Jle wir s iy 15001 5 LaSih pee Jolus 1 Sy .8

cdBByS ) LS pyeS oS g (0des @iol) VLS dlud 4S slaali Lowl

AurS Laliyy) Wlfo Ay dx Jlew e sl 1y YLS aaus
S lee adloyy ;ylS J1 edsd i DL IS dmd 48 albedle

p=int(input("Enter p:")) B e
n = int(input("Enter n:")) .
inc = int(input("Enter inc:")) oy by Jl sl n
print("Year Price”) s Slapseg e 5 (Sobr e 2 YET 35 p
for i in range(1, n+1):

p=p+(p*inc / 100) oy lact i

Mol 29
Enter p:100000
Enter n:5
Enter inc:20

Year Price

1 120000.0
2 144000.0
3 172800.0
4 207360.0
5 248832.0

LS 0 ol g dwle |y g0y sow Jol 4F 00 g a2 AS sldaliy N

1 1
S =——
X x4+ 2x
g=1 NERTS NS
pow = 1.0 -
sum = 0.0 ekl X
oldo ?b.'\.&
suml = 0.0 _
x = int(input ("Enter x:")) o jlads |
for i in range(1, 11):
Ol g5 ow
pow = pow * X X sladly p
suml =suml + i * pow gy sum
sum = sum + s * 1.0 / suml
S = -5 C_)?uﬂ § yorese suml
print("Sum is ", sum) i e ysdSe e S

ologm 2 S

Enter x:5
Sum is 0.18384874697896247



(o™ a2 yo— b 90+ > )Ogul Pluo > 1A

bl 045l g5 1) pame Golied dldel 1 sldesa 45 sldelisy )
LS dxilis waoe glE oge sSdee 3 ocolitiwl gedn Iy Lagl
Ll A8 4l cudS o)l pdo dde g0 slody

while True: 5 so
RV RO
sum = @ -
x = int(input("Enter x:")) Jsl i X
y = int (input ("Enter y:")) -
if (x == 0 and y == 0): £2° A y
break o ylad i
temp =y
if (y < 0): (G b Jeol>) ¢ sares sum
temp = -y; tem
for i in range(1, temp+l): S8 P

sum = sum + X

if (y < 9):
sum = -sum
print(x, " * ", y, " = ", su)

Molo g 295

Enter x:10

Enter y:-8

10 » -8 = -80

Enter x:-8

Enter y:-10

-8 * -10 = 80

Enter x:0

Enter y:0

L awl gylide ode LT LiS.0 gariio coudSlgs |y sode 45 sldoliyy .Y

JEYFYY o AYEYY 131 wSlonlee golEie Sldel 31 sleabgd Ly

PO ey cawl golibise cLbly guglin Ly ol sode 4xilis taisgs)
(.piSn dwolio @93 Ly 038 Luwls |y dde 0glio

pow = 10 N .

sum = @ Soe 250

num = int(input("Enter a number:")) sdisyly ste | NUm

temp = num -

while temp > O: \+ ot | Pow
sum = (pow * sum) + temp % 10 O sbin dloes (513 SaS Temp
temp =temp // 10

if (sum == num): (5o ke g sams | SUM
print("Yes")

else:
print("No")

e e I A B
Enter a number:12221
Yes
Ly codilgs |y aufn g aixo d&e 93 N g M 45 sldoliyy VY
Slée olz g wwl2 1y M o+ y8)as I 00 Lidwl
RV Jve S
sl m

o5
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m = int(input("Enter n:")) N-Y 6 oples i
n = int(input("Enter m:")) i
sum = @ muy o)l ]
temp = m

for i in range(1, n): (8 3 U5 e L p3) g geme | SUM
sum = © ‘))th_)@-‘LSJUGg;LS‘jéSJ:"‘“ temp
for j in range(1, m +1):
sum= sum + temp
temp =sum
print(m, " ~ ", n, " =", sum)

Ml (2

Enter n:2
Enter m:10
2 ~ 10 = 1024

def fibo (n): s ~ ™
if (n == 1):
return (1) 57 Usmd sltel sl n .
if (n == 2): R | main
return (1)
return (fibo (n - 2) + fibo (n - 1))
def main():
n = int(input("Enter n:"))
print("Result is:")
for i in range(1, n+l1):
print (fibo(i), end =" ")

main()
R T B
Enter n:10
Result is:
112358 13 21 34 55




(ol oo — &b 00 Jo )Oghlb Sl Jo  Po
RV g o
S 4 (63,9 Foot
ARy Inch
ORI foot_to_meter
; : inch_to_meter
e - - e
Sl centi _meter
el 4 O g foot_to_centimeter
foot = inch = @ : .
foot_to_meter=foot_to_centime Fale 4 ! inch_to_centimeter

ter=inch_to_meter=inch_to_cen
timeter=0
def read ():
foot = int(input("Foot?"))
inch = int(input("Inch?"))

def calculate ():
foot_to_meter = 0.3048 * foot
foot_to_centimeter = 100 * foot_to_meter
inch_to_meter = (1.0 / 12)*0.3048* inch
inch_to_centimeter = 100 * inch_to_meter
def write():
print ("The ", foot, " foot is ", foot_to_meter, " meter" )
print("The ", foot, " foot is ", foot_to_centimeter, "
centiMeter")
print("The ", inch, ", inch is ", inch_to_meter ," meter")
print ("The ", inch, ", inch is ",inch_to_centimeter, "

centiMeter")
def main():
read ()
calculate ()
write ()
main()

Foot?100

Inch?200

The 100 footis 30.48 meter

The 100 footis 3048.0 centiMeter
The 200, inchis 0 meter

The 200, inchis 508.0 centiMeter

Tl s
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def calc_f (m1, m2, d): Gus 2 e
g = 6.673e-8; : s
return (g * m1 * m2 / pow (d)) Sl i o5 | 9 S ol o
def pow (d): -
return (d * d) Jsl iz £ ml main
def main(): R m2
ml = float(input("Enter mi:")) il gl
m2 = float(input("Enter m2:")) e 33 o bl | D

d = float(input("Enter d:"))
print("F is ", calc_f (m1, m2, d))
main()

B SR A B

Enter m1:12

Enter m2:17

Enter d:6

Fis 3.7813666666666665e-07

Suan P o
NG v main
import math s t

def calc_cold (v, t):

return (33 - ((10 * math.sgqrt (v) - v + 10.5) * (33 - t)) / 23.1)
def main():

v = float(input("Enter v:"))

t = float (input ("Enter v:"))

print("W is ", calc_cold (v, t))
main()

Tl s

Enter v:10
Enter v:20
W is 14.922246934117346

WKV % o
def repeat(n, m): it .
count = @ s g0 s n main
while n > 0: — -
if (n % 10) == m: 338 i 3de 2 LS () m
c?‘/‘”tlz count + 1 5o 55 135 51,55 slss count | repeat
n =
return count
def main():

n = int(input("Enter n:"))
m = int (input ("Enter m:"))
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print (m, " Repeat ", repeat (n, m),
main()

times")

T lism 298
Enter n:4143131
Enter m:3
3 Repeat 2 times

S99 X
$3909 n
& sum | main
def fact (n): _
i'F n == 1: ,_U)u i
elser-‘eturn 1o (355 o0 sin 5 Sata Ol 53 (S bl | SIGN
return n * fact
(n - 1)
def pow (x, n):
if n == 0:
return 1.0
else:
return x * pow (x, n - 1)
def main():
sign = 1
sum = @

x = float(input("Enter x:"))
n = int (input ("Enter n:"))
for i in range(1, n+1, 2):
sum += sign * pow (x, i) / fact (i)

sign = -sign
print("Sin(", x, ") =", sum)
main()
Tl 2
Enter x:3
Enter n:6

Sin(3.0) = 0.5249999999999999
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def f1():
global x
y = 10
print("y =", y)
X += 10
print("x = ", x )
X =X+1

def main():
global x, y
print ("x = ", x)
f1 ()
y=y+1
print ("y =", y)
print ("x =", x )
X =X+1

X =y =0

main()

Tl 29




(o7 o= abp 10+ S JOgil flwo J>  PE

Son Py A
oiyles | main
sl 3 nl
i
e [ 13

S8 L | temp
def fact(n): s <L
il e pBl iy sS6 ¢ pame | SUM
return 1 358 Ol 0T JisSb b s oo [ N fact
else:
return n * fact (n - 1)
def main():
print ("Result is:", end ='")
for i in range(100, 1000):
nl =1% 10

temp = 1 // 10

n2 = temp % 10

temp //= 10

n3 = temp % 10

sum = fact (nl1) + fact (n2) + fact (n3)

if (sum == i):
print ("

> 1)

main()
el 2esS
Resultis: 145
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def pow(x, n):
if n == 0:

return 1 odisles | 1 main
else:
return x * pow (x, n - 1) dsled, [ N1
def main(): 1
print ("Result is:", end ='") £2° 2
for i in range(1000, 10000): ;.1 n3
nl=1i% 10 e
temp = i // 10 eoler i, | N4
n2 = temp % 10
temp //= 10 S gla e | tEMP
n3 = temp % 10 . " oW
temp //= 10 LepNOls 4l S ol P
n4 = temp % 10 sg|n
if (n1 + pow (n4, 4)) ==
(n2 * n2 + pow (n3, 3)):
print (" ", i, end ='")

main()

Tl 2 s
Resultis: 1010 1023 1038 1100 1111 1124 1139 1207 1218 2040
2059 2141 2231 2248 3090 3191 3298 3458 4679

def lcm(x, y): o e
if x > y: g :
z =X Jsl e 30e X Main
else: y
z=Yy £3° goe e
while(True): s el X Lem
if((z % x == 0) and (z %y == 0)): : y
lem = 2 £33 bl
break
z +=1
return lcm
def main():

x = int(input("Enter x:"))
y = int(input("Enter y:"))
print("lcm is ", lcm(x, y))
main()
el 2esS

Enter x:24
Enter y:28
Icmis 168




(o7 g o= bz 100 o )Ogil Plwo > P5

from array import *

RV x o
def prim(a, tedad, num): >

for i in range(@, tedad): oddokil g sae | N
. o N
i nﬂ:tﬁr:[;] o Jslslasl 5 elal,T | P
a.append(num) oyl i main
return 1
def main(): Jslslael slaws | tedad
tedad = 0

p = array('i', [1) ket ! prim
n = int(input("Enter n:"))
for i in range(2, n+l):

if prim (p, tedad, i) == 1:

tedad = tedad + 1

print("Primary is ", end ='")
for i in range(©, tedad):

print(" ", p[i], end ="")

main()
Tl 2

Enter n:29
Primaryis 2 3 5 7 11 13 17 19 23 29

San By BV
Ob il ol (6,106 sl sl T id main
Ob soeiils slday n
oy led i
skl i readarray
o yled i,j | select_sort
S8 e temp
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sae o 5855 max

sk les i writearray

from array import *
def readArray (id, n):
for i in range(@, n):
id.append(int(input("Enter id["+str( i + 1)+ "]1")))
def select_sort (id, n):
for i in range(0, n):
max = i
for j in range(i+l1, n):
if id[max] > id[j]:
max = j
temp = id[i]
id[i] = id[max]
id[max] = temp;
def writeArray (id, n):
print("Sorted output ", end ='")
for i in range(@, n):
print (" ", id[i], end ='")
def main():
id = array('i', [1)
n = int(input("Enter n:"))
readArray (id, n)
select_sort (id, n)
writeArray (id, n)
main()
el 2P
Enter n:6
Enter id[1]1
Enter id[2]3
Enter id[3]2
Enter id[4]6
Enter id[5]8
Enter id[6]5

Sortedoutput 1 2 3 5 6 8

from array import * on o
n = int(input("Enter n:"))

a =array ('i', []) slael 31 glal,T a
j=o — :

for i in range(@, n): fslasi st | find
find =0 sldel sldas n
num = int(input("Enter a["+str(i+1)+ "]:")) —
for j in range(@, i): ok sled 1)

if a[j] > num: auuw.-\ﬂ}ﬁ- Sde num
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find = 1
break
if find == 1:
a.insert(j, num)
else:
a.append(num)
print("Result is : ", end="")
for i in range(@, n):
print(" ", a[i], end ="")
Tl 2
Enter n:7
Enter a[1]:1
Enter a[2]:-1
Enter a[3]:3
Enter a[4]:-2
Enter a[5]:7
Enter a[6]:4
Enter a[7]:8
Resultis: -2 -1 1 3 4 7 8

RV BT WY
a7 ol sl n Main
eV blel)T a
Ly ae mid
o yleds i

IS e o ) e | SiGN

from array import * Goe S 4 dn s
def action (a, loc, n): ol i Action
for i in range(0, n):
print(a[i], " / ", a[loc], " =", a[i] / a[loc])
def main():
sign = 1

a = array ('i', [])
n = int(input("Enter n:"))
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mid = n // 2
for i in range(®@, n):
a.append(int(input("Enter a["+str( i + 1) + "]1:")))
j=20
for i in range(@, mid + 1):
if a[mid + (sign * j)] != e:
action(a, mid + (sign * j), n)
return
if sign == 1:
j=3+1
sign = -sign;
print("All element are zero")
main()
Tl 2
Enter n:7

Enter a[1]:1
Enter a[2]:0
Enter a[3]:0
Enter a[4]:0
Enter a[5]:4
Enter a[6]:2
Enter a[7]:6
1/4=025
=00
0.0
=00
1.0
0.5
15

~ e~~~ —~
L S e i

OO OO

Saa gy &b
a7 Gl low slis n

ol gloswsls | m main
¥x a7 a

Dbl bogd YU e Solaislusl Ll S ST | arr

oo sl n createrandom
L
szl | m .
printarray()

N-106 a0 5 b otijles i
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M-10 im0 5w odiyles j

import numpy as np
import random
import numpy.matlib
def createRandom(arr, n, m):
for i in range(@, n):
for j in range(0, m):
arr[i, j] = random.randint(@, 20)
return arr
def printArray(arr, n, m):
for i in range(@, n):
for j in range(0, m):
print(arr[i, j], end = "\t")
print()
def main():
n=m=3
a = np.matlib.empty((n, m), dtype = 'i')
a = createRandom(a, n, m)
printArray(a, n, m)
print("==== ==")
print("Sum is ", np.sum(a))
print("Average is ", np.average(a))
print("Max rows are ", np.amax(a, axis = 1))
print("Min cloums are ", np.amin(a, axis = 0))

main()
13 5 14
12 16 2
4 3 15
Sum s 84

Average is 9.33333333333
Max rows are [[14]

[16]

[15]]

Min cloums are [[4 3 2]]

Tl 2
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WKV il o

slaslslus | N main

slaet 31 sl 1,7 | UM

oiyles | inputl
LS e temp convert
from array import * ol |
def inputl( a, n): oyl | printl

for i in range(0, n):
a.append (int (input ("Enter a[" + str (i + 1) + "]1:")))
def convert(a, n):
for i in range(@, n // 2):
temp = a[i]
a[i] = a[n - 1 - 1]
a[n - i - 1] = temp
def printl (a, n):
for i in range(@, n):
print(" ", a[i], end ='")

def main():
n = int(input("Enter n:"))
num = array ('i', [])
inputl (num, n)
print("Input is
printl (num, n)
convert (num, n)
print("\nConvert is ", end ='")
printl(num, n);

main()

, end ="");

Tl 29
Enter n:8
Enter a[1]:1
Enter a[2]:2
Enter a[3]:3
Enter a[4]:7
Enter a[5]:8
Enter a[6]:1
Enter a[7]:5
Enter a[8]:3
Inputis 1 2 3 7 8 1 5 3
Convertis 3 5 1 8 7 3 2 1
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[W-KVY Br )

e 8‘"‘ Joul table

Oeble o jled number

Calse a5 | code

W’ALAJ&QLM C‘,w sum

ol | 1

from array import *
def main(): Cpile a s sl | N

table = array ('i', [1000, 2000,
3000, 4000, 5000,8000,\ 10000, 20000, 30000, 50000 ])

sum = ©
while True:
number = int(input("Enter number:"))
if number == -999:
break
n = int(input("Enter n:"))
sum = 0.0
i=1

while i <= n:
code =int(input("Enter code "+ str(i)+":"))
if code >= @ and code < 10:
sum += table[code]

else:
print("Enter code between © to 9")
continue

i=1i+1

print("*** Number is ",number, Sum is ", sum)
main()
Tl 2
Enter number:1
Enter n:5
Enter code 1:1
Enter code 2:3
Enter code 3:11
Enter code between 0 to 9
Enter code 3:8
Enter code 4:6
Enter code 5:7
*** Numberis 1 Sum s 66000.0
Enter number:2
Enter n:3
Enter code 1:1

Enter code 2:5
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Enter code 3:7
*** Number is 2 Sumis 30000.0
Enter number:-999

XYY goeN Ao
import numpy.matlib Oswbd s buflLlal,T| @ main
import numpy as np —

o Lo 1, I rr
def readArray (a): Laedijlo J eadarray
for i in range(0, 4): bokiyles | 1, findmax
print("Enter row(", i — -
+1, "):", end ='") bodislez | 0, | writearray

s = input().split ('
")
for j in range(0, 4):
ali, j1 = int(s[3j])
def findmaxrow (a):
for i in range(0, 4):
a[i, 4] = a[i, @]
for j in range(1, 4):
if a[i, 4] < a[i, jI:
ali, 4] = a[i, jI;
def writearray(a):
for i in range(0, 4):

print ()
for j in range(©0,4):
print (" ", a[i, j], end ="")
print(" ", a[i, 41)
def main():

a = np.matlib.zeros ((4, 5))
readArray (a)

findmaxrow (a)
5 T 3 3k 3k 3k ok ok ok ok 3k ok 3k ok 3k 3k ok ok sk ok sk sk %k Sskok sk ok sk ok sk ok sk sk sk sk skkk kY
print( result )

writearray (a)
main()

Tl e
Enterrow(1):1234

Enter row(2):6 789
Enter row(3):1467
Enter row(4):2681
*hkhkkhkhkhkhkhkhkhkhkhkhkhhkikhkiiikk resu It*****************
1.0 2.0 3.0 40 4.0
6.0 7.0 8.0 9.0 9.0
1.0 4.0 6.0 70 7.0
2.0 6.0 8.0 1.0 80
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WKV BN Ao
11 1€ Y 0 Ty -
g | matrix
Yy Y. v 1 13 Main
Q}'L«)JQMJL\’: n
vl [ [ —
Og s | i | matrix
AR Foees| 1
6@&\50;&)#0}@ Jl,ll

import numpy.matlib
import numpy as np
def rangeXv(il, ji, n): R ERR P RPN B disp_matrix
if i1 > n:

il =290

if i1 < eo:

il =n

if j1 > n:

j1 = o

o yles b ) n

jl =n
return [i1, j1]
def fill_matrix(matrix, n):

i=290
n=n-1
j=n//2

matrix[i, j] =1
for m in range(1, (n + 1) * (n + 1)):
i1=1-1
ji=3 -1
[i1, j1] = rangeXY (i1, ji, n)
if matrix[il, j1] != @:
il=1i+1
j1 =173
[i1, j1] = rangeXy (i1, j1, n)
matrix[il, j1] =m + 1
i=11; j =31
def disp_matrix (matrix, n):
for i in range(0, n):
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for j in range(@, n):
if matrix[i, j] < 1@:

print(" ", matrix[i, j], end ="")
elif matrix[i, j] < 100:
print(" ", matrix[i, j], end ="")
else:
print(" ", matrix[i, j], end ='")
print()
def main():

n = int(input("Enter n:"))
matrix = np.matlib.zeros ((n, n))
fill matrix (matrix, n)
disp_matrix (matrix, n)
main()
Tl 2P
Enter n:7
28.0 19.0 100 1.0 48.0 39.0 30.0
29.0 270 180 9.0 7.0 470 380
37.0 350 26.0 170 80 6.0 46.0
450 36.0 340 250 16.0 140 5.0
40 44.0 420 33.0 240 150 130
120 3.0 43.0 410 320 230 21.0
20.0 110 20 49.0 40.0 31.0 220
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import numpy as np 5,5 sl 41T b
a = np.arange(o, 10, 2)
print("A = ", a)

b = np.arange(1, 10, 2)
print("B = ", b)
print("A + B= ", a
print("A - B =", a - b)
print("A*B = ", a * b)
print("A / B =", a / b)
a= np.append(a, b)
print("A =", a)

b = np.insert(b, 0, a)

print("B = ", b)

b = np.unique(a)

print("B = ", b)

b = np.delete(b, 2)

print("B = ", b)

print("Min(B) = ", np.amin(a), "\tMin(b) = ", np.amin(b) )

print("Max (A) =", np.amax(a), "\tMax (b) =", np.amax(b))
print("Average(A) = ", np.average(a), "\tAverage(B) = ",
np.average(b))

print("Median(A) = ", np.median(a), "\tMedian(B) = ", np.median(b))
print("var (A) = ", np.var(a), "\t var(B) = ", np.var(b))

a = np.sort(a)

print("A =", a)

c = np.copy(a)

print("C = ", )

Sl amess 41,7 c

+ b)

V- .

print("C is A = ", ¢ is a)
c=b

print("C = ", ¢)

print("C is B = ", ¢ is b)
print("A > 5 =", a > 5)

print("sqrt(B) = ", np.sqrt(b))
Tl 2

A=[02468]
B=1[13579]
A+ B=[1591317]
A-B=[-1-1-1-1-1]
A*B= [0 6204272]
A/B=[0. 0.66666667 0.8 0.85714286 0.88888889]
A=[0246813579]
B= [024681357913579]
B=[0123456789]
B=[013456789]
Min(B) = 0 Min(b) = 0
Max (A) =9 Max (b) =9
Average(A) = 4.5 Average(B) = 4.77777777778
Median(A) = 4.5 Median(B) = 5.0
Var (A) = 8.25 Var(B) = 8.3950617284
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A=[0123456789]
C=[0123456789]

Cis A= False
C=1013456789]
CisB= True

A >5 =[False False False False False False True True True True]
Sqrt(B) = [ 0. 1. 1.73205081 2. 2.23606798 2.44948974
2.64575131 2.82842712 3. ]

San gre-N) Ao
Al e 8 53 ool 5 sde n main
AL s el LT o ey o )8 done
Jsl sde al)T p
Ul 3de s i) 5n 93 5 sl o ples 0]
Jgl sde slass tedad
ok jlads i prim
Jsl e 5305,5 1 (61 olbsotsjlad ij find_two_numbers

from array import *

def

def

def

prim (a, tedad, num):
for i in range(0, tedad):
if num % a[i] == ©:
return 0
a.append(9)
a[tedad] = num
return 1
find_two_numbers (p, nl1, n2, tedad, n):
for i in range(0, tedad - 1):
for j in range(i + 1, tedad):
if (p[i] + p[3]) == n:

nl = p[i]
n2 = p[j]
return [nl1, n2]
return nl
main():
p =array ('i', [])
i=o20
j=o
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done = 'Y’
while True:
tedad =
n = int(input("Enter n:"))
if n% 2 ==1:
print("Enter a even number\n")
continue
for i in range(2, n+1):
if prim(p, tedad, i) == 1
tedad= tedad + 1
[i, j] = find_two_numbers(p, i, j, tedad - 1, n)
pr\int(n B "= ") i) + ") j)
done = input("You want to continue(y/n):")
if done[@] == 'n' or done == 'N':
return

main()
Tl 2P

Enter n:8
8§=3+5
You want to continue(y/n):y
Enter n:20
20 = 3 + 17
You want to continue(y/n):y
Enter n:100
100 = 11 + 89

You want to continueii/ni:n

def odd_values_string(str):
result = ""
for i in range(len(str)):
ifi%2==0:
result = result + str[i]
return result
str = input("Enter a string:")

print(odd_values_string(str))

Tl 2 F
Enter a string:Python is a very good language.
Pto savr odlnug

def word count(str)
counts = dict()
words = str.split()
for word in words:
if word in counts:
counts[word] += 1

else:
counts[word] =
return counts
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I print( word_count(input("Enter several words:")))
Tl 28
Enter several words:Dog Book Teacher Student Language Book Student
{'Teacher" 1, 'Dog": 1, 'Language": 1, 'Book'": 2, 'Student": 2}

def caesar_encrypt(realText, step):
outText = []
cryptText = []
uppercase
['A*,'B","'C','D","E","F',"G","H",'T", "3, 'K*,"L",'M",'N", 'O", 'P",
'Q', 'RY, 'St, T, U, VY, OW', X', YU, T2t
lowercase = ['a','b','c",'d",'e",'f",'g",'h",'i", "', 'k', '1',
m', 'n', ‘o', 'p', 'q', 'r', 's', 't', 'u', 'v', 'w', 'x', 'y', 'z']
for eachLetter in realText:
if eachLetter in uppercase:
index = uppercase.index(eachLetter)
crypting = (index + step) % 26
cryptText.append(crypting)
newlLetter = uppercase[crypting]
outText.append(newLetter)
elif eachLetter in lowercase:
index = lowercase.index(eachLetter)
crypting = (index + step) % 26
cryptText.append(crypting)
newLetter = lowercase[crypting]
outText.append(newLetter)
return outText
code=caesar_encrypt(input("Enter a string:"),int(input("Enter
key:")))
code = ''.join(code)
print("Encryped text is

, code)
R e S R
Enter a string:Python is a very good language.
Enter key:4
Encryped text is Tcxlsrmweziveksshperkyeki

def reverse_string(stri):
return ''.join(reversed(strl))
print(reverse_string(input("Enter a string:")))

Tl 2 F
Enter a string:Python Exercises.
.sesicrexE nohtyP

def strip_chars(str, chars):

return "".join(c for c in str if c not in chars)
s = input("Original String:")
stripl =input(" stripping chars:")
print(strip_chars(s, stripl))

Tl 2 F
Original String: Type "copyright", "credits" or "license()" for more information
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stripping chars:oicet

Tyi "iyrgh", "rds" r "Ins()" fr mr nfrman

def string_reverse(stri):
rstrl = "'
index = len(strl)
while index > @:
rstrl += strl[ index - 1 ]
index = index - 1
return rstril
print("Reverse is

, string_reverse(input("Enter a string:")))
Tl 2 sF

Enter a string:Python language

Reverse is egaugnal nohtyP

import random
s = input("Enter a string:")
print("Random char is ", random.choice(s))

Y
Enter a string:VerygoodLanguage
R T B
Random charis n

C3s, 4k, | Str el dsle

WS o 8L 3 1y (83558 dy S 0L ST | Str

abl a5 wdy | S charChange

def charChange(str):
s = mm
for i in range(@, len(str)):
if str[i].islower() == True:
s += str[i].upper()
else:
s += str[i].lower()
return s
str = input("Enter a string:")
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str = charChange(str)
print("Result is ", str)

Tl 2
Enter a string:Python Is A gooD lanGuage.
Resultis pYTHON iS a GOOd LANgUAGE.

def histogram( items ):
for n in items:
output = "'
times = n
while( times > @ ):
output += '*'
times = times - 1
print(output)
histogram([3, 6, 4, 3, 6, 5])

el 2esS
* %%

*hkkkkk
*kkKk
*k Kk
*hkkkkk
*kkkk

s = sum([10,20,30, 56, -9, 87, -8])
print("Sum of the container: ", s)

Sum of the container: 186

Tl 29

num_list = [45, 55, 60, 37, 100, 105, 220, 660, 876]

# use anonymous function to filter

result = list(filter(lambda x: (x % 15 == @), num_list))
print("Numbers divisible by 15 are",result)

T lom 2 sF
Numbers divisible by 15 are [45, 60, 105, 660]

nums = [34, 1, @, -23, 7, -99, 90, -88]
print("Original numbers in the list: ",nums)
new_nums = list(filter(lambda x: x >0, nums))
print("Positive numbers in the list: ",new_nums)

T lo 2y S
Original numbers in the list: [34, 1, 0, -23, 7, -99, 90, -88]
Positive numbers in the list: [34, 1, 7, 90]
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from functools import reduce
s = input("Enter several numbers:")
numbers = s.split()

nums = []
for i in numbers:
nums.append(int(i))
nums_product = reduce( (lambda x, y: x * y), nums)
print("Product of the numbers : ",nums_product)

Enter several numbers:12 -8 9 -12 17 90 -80
Product of the numbers : -1269043200

s = input("Enter several numbers:")
numbers = s.split()
nums = []
for i in numbers:
nums.append(int(i))
values = bytearray(nums)
print("Result is ", end = '")
for x in values: print(x, end = "\t')

Enter several numbers:44 10 97 13 17
Resultis44 10 97 13 17

def find_longest_word(words_list):
word_len = []
for n in words_list:
word_len.append((len(n), n))
word_len.sort()

return word_len[-1][1]
words = input("Enter several words:").split()
print(find_longest_word(words))
el 2esS

Enter several words:Php Python C++ C# Cobol
Python

def multiply(numbers):
total =1
for x in numbers:
total *= x
return total
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s = input("Enter several numbers:")
numbers = s.split()

nums = []

for i in numbers: nums.append(int(i))
print("Multiply is ", multiply(nums))

el 2esS
Enter several numbers:10 20 30 40 50 60 70 80
Multiply is 4032000000000

d={"UPPER_CASE":@, "LOWER_CASE":0}
s = input("Enter a string:")
for c in s:
if c.isupper():
d["UPPER_CASE"]+=1
elif c.islower():
d["LOWER_CASE"]+=1
else:
pass
print ("No. of Upper case characters : ", d["UPPER_CASE"])
print ("No. of Lower case Characters : ", d["LOWER_CASE"])
Tl s

Enter a string:In the name of GOD
No. of Upper case characters : 4
No. of Lower case Characters : 10

import math
class Circle:
PI = math.pi
r =0
def __init_ (self):
self.r = 0
def __init_ (self, r):
self.r = r
def _ del_ (self):
print("object is deleted")
def Area(self):
return self.PI* (self.r * self.r)
def Perime(self):
return 2 * self.PI * self.r
def _ str__ (self):
s = "R : "+ str(self.r)
s += "\t\tArea : " + str(self.Area())
s += "\t\tPerime : "+str(self.Perime())

return s
r = int(input("Enter r:"))
¢ = Circle(9)

print(str(c))
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¢ = Circle(r)
print(str(c))

del c
Tl 2

Enter r:10
R:0 Area: 0.0 Perime : 0.0

object is deleted
R:10  Area: 314.1592653589793 Perime : 62.83185307179586

object is deleted

Password 4 userName Slapl 4 dld 55 &5 US o oolinl USET o 4y (DS Sl sl o) :gentr g
C b Sl ol jlg s 50 ulf,ﬂlffu‘.xfcm,:U;,\;isCorrect() el & sze 5 3,0

class User:

UserName = "fanavarienovin"
Password = "123456"
def isCorrect(self, userName, password):
return self.UserName == userName and self.Password ==
password

userName = input ("Enter user name:")
password = input ("Enter password:")
userl = User ()
if userl.isCorrect (userName, password) == True:
print ("Correct™)
else:
print("Not Correct")
R L S R B
Enter user name:fanavarienovin
Enter password:123456
Correct

AL e 5 slasl shyls WIS ol
S a 158K 15,3.1415 luis Pl oot
S n 58S 1y 0 S pladr ald -
eL L ite ol ) s o 13 (1) plad ald 53 o8 S8l ys bl Olgieas 5T e cowile e
(Sl odioslimal self Soylal 5l dil o S ald
Al 8 ap 03,8 Slas 165 w2 VolUME() ie -
13,5 oy 0038 drlna Iy 0 S Comle Area() aie e

class Sphere:

PI = 3.1415
r=29
def __init_ (self, r):
if r > 0:
self.r =r
else:

self.r 0
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def Volume (self):

return (4.0 / 3) * self.r ** 3 * self.PI
def Area (self):

return 4.0 * self.r ** 2 * self.PI

r = int(input("Enter r:"))
s = Sphere (r)
print("Volume is ", s.Volume (), " Area is ", s.Area ())
:uu)_g ‘,_?3_).5
Enter r:10

Volume is 4188.666666666667 Areais 1256.6000000000001

class Time:

hour = 0@
minute = @
second = ©

def _ init_ (self, hour=0, minute=0, second=9):
self.hour = hour
self.minute = minute
self.second = second

def isEqual (self, t):

return self.hour == t.hour and self.minute == t.minute and
self.second == t.second
tl = Time ()

t2 = Time (10, 55, 40)
if tl.isEqual (t2) == True:
print ("tl1 Equals t2")
else:
print ("t1 Not Equals t2")
if t2.isEqual (t2)== True:
print("t2 Equals t2")
else:
print("t2 Not Equals t2")

EL e 5 slasl Glyls ST ol

S s asb  aids (el yslie 615455 6l m 5 7 4 45 seCONd 5 minute hour slaals =
Ly o
self.hour glaals ;s s 5" sl 5 1, second s minute dhour glaasl el L 4w ouijlu -
& self auls” 51y S ks pUL s sl eyl pU O s s 0 ) 3 self.second , self.minute
el odioslazal WIS (Gladld 4 w 2ws
- Il e 4 s ) oty sl + 5 S n i 5 TIME 645 51+ o5 55 dSEQUAN() e e
35k

Tl 2

t1 Not Equals t2
t2 Equals t2
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class Teacher:

id = mwm
firstName =
lastName =
hour = @
payPerOneHour = 0
def getID(self):
return self.id
def setID(self, value):
self.id = value
def getFirstName(self):
return self.firstName
def setFirstName(self,value ):
self.firstName = value
def getLastName(self):
return self.lastName
def setLastName(self, value):
self.lastName = value
def getHour(self):
return self.hour
def setHour(self, value):
if (value > 9):
self.hour = value
else:
self.hour = @
def getPayPerOneHour(self):
return self.payPerOneHour
def setPayPerOneHour(self, value):
if value > 0:
payPerOneHour = value
else:
payPerOneHour = 0
def __init_ (self, i="", f="", 1="", h=0, p=0):
self.setID(i)
self.setFirstName(f)
self.setLastName(1l)
self.setHour( h)
self.setPayPerOneHour(p)
def Payment(self):
return self.hour * self.payPerOneHour
def _ str__ (self):

wn,
)

return self.id + " " + self.firstName + " "\
self.lastName + " " + str(self.hour)+ " " + \
str(self.payPerOneHour)+ " "+ str(self.Payment ())
def main():
tl = Teacher()
print(str(tl))
t2= Teacher("12", "Ali", "Ahmadi", 140, 70000)
print(str(t2))
main()

S e 61385 1y (gokial Lot dd Al
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LS e 13855 1 sk ¢ dirstName s +

firstName 4ls 4 a5 ,l4as sl setFirstName .  firstName U 5L sl » getFirstName wio
a0 05 4

Ll e 636K 1 sl Sl gl ol dastName uLs 4

s lastName uls 4 5,142 ol ; setLastName 4. 5 lastName U 5L sl » getLastName wio 4
ETSPNI

By )5 4 skl ey Slele 6,158 (g1 hour ks

9 )LS ashour s 4 a5 luie Cga- SetHOUr die s hour Hluie ol 5L Cg getHour v
S e (6,8 sl hOUr Al (gl ite slaesls 55,5 I setHoUr ze

S om0 5 1y bl sy sl (gl ey s e cpayPerOneHour wié +

!~ setPerOneHour 4 5 payPerOneHour .Ls L L g getpayPerOneHour v 4
Als ys de CLA 35,9 5 setPerOneHour ws 555, s 55" 4 payPerOneHour uls 4 s )la
5,5 sl 6,8 Jo payPerOneHour
...\A:u.auA.,.a:'Jw)&f)sa.u&:ﬁL;lAJl:é«{):ﬁf@b&lAJ;ﬁ\)\iaw\a’ju4—

L1303 S acnlous | sliwl 4 g5y eyl G s Payment() i 4

R L S R B
000
12 Ali Ahmadi 140 0 O

aboy D golys o LXT Jobld y5 0038 adloyy 1y 4@ sz 45 slaoalispy )
. 4w g3 0 Data

import io
myFile = open('D:\\data\\1l.txt', 'wt')
while True:
sentence = input("Enter a sentence: ")
if len(sentence) != 0:

sentence +='\n'
myFile.write(sentence)
else:
break
myFile.close ()

e 3 kil ) Gl e pliy b ail ¢S5 55 walsl 53 S e bl D ul)s Data sy
Iy sy ol 5 dew 55 oo MYFile 531, 0T clils i sentence awi, Jsb amsliz 5 das 0 5l 3 SeNtence

sy e lymyFile J6OLL 55 a8 5505 Jawe Jsb b glatdy 55,8 6 das o aals!
Tl 2
Enter a sentence: Python is a high level language.
Enter a sentence: C# is a good language.
Enter a sentence: C++ is a very good language.
Enter a sentence:



(ol g o= 0B 5100 S )Ogily flwo J>  FA

import io
myFile = open('D:\\data\\1l.txt', 'at')
while True:
line = input("Enter a sentence: ")
if line != "":
line +="'\n"'
myFile.write(line)
else:
break
myFile.close ()

)}}5-&5‘}5- b 6‘41&?wur\ag_bj‘ﬁ4.a>).ﬁ :ﬂéb\bT&L@;&\bb@b)\blbl}uU.AS@)L
sl Ji=line 315 a8 . wlsimyFile |6 clgsl « 1, 0T cals Jis line ST 5 das o i 3 line

) ) Tl 2
Enter a sentence: Java is a good high level language.

Enter a sentence: Pascal is a language.
Enter a sentence:

import io
import os
fileName=input("Enter name of file: ")
if os.path.exists(fileName):
myFile = open (fileName, 'rt')
while True:
line = myFile.readline()

if line != "":
print(line, end ="'")
else:
myFile.close ()
break

52 kil 1) BB bl pliy &K L 5 uST 0 LS sl 40 1508 5 10 (slaaty ol 4l )

oaﬁsﬁ-}no)r;);}>)13>ﬁ,&ugT6x§@¢§¢W..m@,ljsfileName slady i
myFile ji s & Ls 1SS adl ¢ 55 aelsl 3 il 1) b6 0T Sledbl ol b A8 o 5615 0T b
s 55 MU 1 1ine aS™ das o aslsl Slej B 1y 5187 ol idas oo 0L Jasledamis (S5 9 Ll o

MLJ S 90 Jib BE LSE’
R I B
Enter name of file: D:\Data\1.txt
Python is a high level language.
C# is a good language.
C++ is a very good language.
Java is a good high level language.

Pascal is a Ianiuaie.

- from stat import S_ISREG, ST_CTIME, ST_MODE
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import os, sys, time
dir_path = sys.argv[1] if len (sys.argv) == 2 else r'.'

data = (os.path.join (dir_path, fn) for fn in os.listdir (dir_path))
data = ((os.stat (path), path) for path in data)
data = ((stat[ST_CTIME], path)

for stat, path in data if S_ISREG (stat[ST_MODE]))
for cdate, path in sorted (data):
print (time.ctime (cdate), os.path.basename (path))

Fri Feb 217:12:17 2018 1.py
Fri Feb 2 17:38:41 2018 2.py
Fri Feb 2 17:56:30 2018 3.py

Fri Feb 2 18:23:26 2018 4ii

import os.path
for path in [ 'test.txt', 'filename', '/user/system/test.txt', '/', " ]:
print("'%s" :' % path, os.path.splitext(path))

Tl 28

Tl 2
"test.txt" : (‘test’, ".txt")
"filename" : (‘filename’, ")
"user/system/test.txt" : (‘/user/system/test’, ".txt")
)
")

import os.path

import time
print('File
print('Access time
print('Modified time:
print('Change time
print('Size

', _file )

', time.ctime(os.path.getatime(__file_ )))
', time.ctime(os.path.getmtime(__file_ )))
', time.ctime(os.path.getctime(__file_ )))
', os.path.getsize(__file_))

£

Tl 2e
File : D:/BookCSharp/pythonPractice/8/6.py

Access time : Fri Feb 2 18:31:53 2018

Modified time: Fri Feb 2 18:31:53 2018

Change time : Fri Feb 2 18:31:42 2018

Size 1311

import io
def ShowData(urlFile):
myFile = open (urlFile, "rt")

count = 0@
while True:
line = myFile.readline ()
if line != "":
if count != @ and count % 22 ==
print("Perss any key to continue ... ")
input()
else:
break
print(line, end ="")

count = count+ 1
myFile.close ()
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def main():
fileName = input("Enter name of file: ")
ShowData (fileName)

main()

SeMbl 5 S o Sl s urlFile syl Uy das ol dal g 0 657 LG el showData() o

ioles b skt 3luas) COUNE e 5 das o Ll 3 MYFile jaze 53 0T Foylal 503 S3L Sl &) gons
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ot 5 s e 4L |, Press any key to continue.... pliy &G 38 Jao plpcount % 22 o)
Sy ey MyFile L6 obl 53 555 el Ji16 b gl plos S s o aalsl Glj By Ly,
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] ] Tl 2
Enter name of file: D:\\BookCSharp\\pythonPractice\\2\\p1.py
day= int(input("Enter number of a day: "))
if (day < 1 or day > 365):
print ("Day should be between 1 and 365)")
else:
month = day // 31
if month > 6:
month = 6
day -= month * 31
if day 1= 0:
count = day // 30
month += count + 1
day -= count * 30
else:
day =31
if day == 0:
day =30
month = month - 1
print("day ", day, " of ", month, " month ", end =")
if month == 1:
print ("(Farvardin) ", end ="
elif month == 2:
print ("(Ordibehesht) ", end ="
Perss any key to continue ...
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